PLEASE NOTE:

1) FOR SAFE OPERATION AND CONTINUED
HIGH PERFORMANCE FROM THIS EQUIPMENT,
INSPECTION AND MAINTENANCE MUST BE
PERFORMED BEFORE EACH USE

2) USE OF THIS EQUIPMENT OTHER THAN
INTENDED, MAY BE HAZARDOUS.

3) ALTERATION OR MODIFICATION OF EQUIP-
MENT MAY BE HAZARDOUS. FOR REPAIR OR
REPLACEMENT, PLEASE CALL YOUR DEALER

0

N

IMPORTANT

ADAPTING BOTTOM BOARDS TO EXISTING
GOALS MAY REQUIRE FIELD MODIFICATIONS.
REAR FRAMEWORK OF GOALS MAY BE
DRILLED (3/8" DIA.) TO ACCEPT PRE-
DRILLED BOARDS AND SUPPLIED
FASTENERS.

Jaypro Sports

976 Hartford Turnpike
Waterford, CT 06385 USA
(800)243-0533
(800)988-3363 Fax
WWWw.jaypro.com

MODEL NO.:

FHG-16

PRODUCT NAME:
FIELD HOCKEY BOTTOM BOARDS

DRAWN BY: JAC EFFECTIVE DATE:

4-10-03




JAYPRO SPORTS
FIELD HOCKEY BOTTOM BOARDS, FHG-16

LIST OF MATERIALS
PIECE NO. PART NO. DESCRIPTION QTY.
1 FHG164 BOTTOM BOARD 10
2 HB5008 5/167-18 CARRIAGE BOLT 40
3 HW2049 5/16” FLAT WASHER 40
4 HN260 5/16”-18 HEX NUT 40
5 HW328 5/16” LOCK WASHER 40
TOOLS REQUIRED:

I- %2 OPEN END WRENCH OR ADJUSTABLE WRENCH
REFER TO SEPARATE INSTRUCTIONS FOR DETAILS ON FRAME ASSEMBLY.

1) WHEN BOTTOM BOARDS ARE ASSEMBLED WITH FRAME, ASSEMBLE
THREE BOTTOM BOARDS (1) TO REAR CROSSBAR ASSEMBLY USING
CARRIAGE BOLTS 5/167-18 x 2 4” (2), FLAT WASHERS 5/16” (3), LOCK
WASHERS 5/16” (5) AND HEX NUTS 5/16”-18 (4). THEN POSITION THE
REAR CROSSBAR ASSEMBLY BETWEEN THE SIDE FRAMES AND MAKE
THE FINAL ASSEMBLY.

2) ASSEMBLE BOTTOM BOARDS ONTO THE SIDE FRAME RAILS AS SHOWN
ON THE ILLUSTRATION.





